Unique Auctions Catalogue 03 May 2017

- 1 2 earthenware table lamp bases £10.00 £15.00
- 2 A new Halowave infra red cooker £10.00 £20.00
- 3 2 new folding trollies £8.00 £10.00
- 4 An electric drill, sander etc £15.00 £20.00
- 5 A cased Frister and Rossman sewing machine £10.00 £15.00
- 6 A pet carrier, fan heater, insect killer and swivel seat cushion £10.00 £20.00
- 7 A stoneware coffee set £8.00 £10.00
- 8 A brass 4 piece tea set £10.00 £15.00
- 9 A large quantity of aircraft magazines £10.00 £20.00
- 10 A box of lego £10.00 £20.00
- 11 A boxed 8 in 1 Aerocart £20.00 £30.00
- 12 A large quantity of garden tools etc £10.00 £20.00
- 13 A Bosch lawn mower £20.00 £30.00
- 14 4 new boxed wooden folding chairs £15.00 £20.00
- 15 2 good 2 drawer filing cabinets £20.00 £30.00
- 16 2 good 2 drawer filing cabinets £20.00 £30.00
- 17 A good lot of drill bits and other accessories £20.00 £30.00
- 18 An old iron pig feeding trough £10.00 £20.00
- 19 A Victorian iron dog grate with fire back and dogs £10.00 £20.00
- 20 A Karcher pressure washer £20.00 £30.00
- 21 A snooker table, cues, balls, light etc £40.00 £60.00
- 22 An occasional table £8.00 £10.00
- 23 3 new wooden plant troughs £20.00 £30.00
- 24 2 new wooden plant troughs £20.00 £30.00
- 25 A new wooden wishing well planter and 2 bird houses £20.00 £30.00
- 26 A 3 tier wooden garden planter £20.00 £30.00
- 27 A circular white dining table £10.00 £20.00
- 28 A quantity of vintage hats £10.00 £20.00
- 29 A quantity of photographic equipment including screens £10.00 £20.00
- 30 A brass topped table £10.00 £20.00
- 31 A vintage Invicta radio £10.00 £20.00
- 32 2 desk lamps and a pine framed mirror £10.00 £20.00
- 33 A sewing box and contents £10.00 £20.00
- 34 A large quantity of unframed paintings £10.00 £20.00
- 35 A new and still in wrapping ironing board and Philip's steam iron £20.00 £30.00
- 36 A cased Singer sewing machine £10.00 £15.00

1

- 37 2 galvanised dolly tubs and 3 galvanised buckets £20.00 £30.00
- 38 A new boxed marble fire surround £20.00 £30.00
- 39 An oak tea tray £10.00 £20.00
- 40 A fold over card table £20.00 £30.00
- 41 A box of batteries, cleansing wipes etc £10.00 £20.00
- 42 A collection of minerals £10.00 £20.00
- 43 A pine fire surround £20.00 £30.00
- 44 2 vintage bagatelle £10.00 £20.00
- 45 A mixed lot of blue and white willow pattern dinner ware £20.00 £30.00
- 46 A wrought iron hall light £20.00 £30.00
- 47 A vintage trunk and suitcase £10.00 £20.00
- 48 An astragal glazed book case top £20.00 £30.00
- 49 A case of photographic items £10.00 £20.00
- 7 case logic DVD cases full of original DVD's including action, approximately 200 films £10.00 -£20.00
- 51 An oak dresser back £10.00 £20.00
- 52 5 pieces of Wood's Indian Tree pattern pottery £10.00 £20.00
- 53 A quantity of leather belts and a leather purse £8.00 £10.00
- 54 A 3 drawer chest £8.00 £10.00
- 55 2 air beds, pump etc £8.00 £10.00
- 56 A quantity of art materials £10.00 £20.00
- 57 A large ceiling light £15.00 £20.00
- 58 A cased clarinet £20.00 £30.00
- 59 5 pieces of Wood's Indian tree pattern pottery £10.00 £20.00
- 2 horse figures and a horse head figure £10.00 £20.00
- 61 An oak coffee table £10.00 £20.00
- 62 12 pieces of coloured glass £10.00 £20.00
- 63 A quantity of old books £10.00 £20.00
- 64 A quantity of plant pots £8.00 £10.00
- 65 A bedroom chair and an ottoman £10.00 £20.00
- 66 A garden bench and a garden table
- 67 2 garden sieves and an a/f heron £8.00 £10.00
- 68 5 terracotta garden pots £10.00 £15.00
- 69 A mahogany effect wall unit £20.00 £30.00
- 70 A quantity of blue glass £10.00 £20.00
- 71 3 large bags of costume jewellery £20.00 £30.00
- 72 A large quantity of DVD's, CD's, LP records and calendars £10.00 £20.00
- 73 A mahogany effect wall unit £20.00 £30.00

- 74 A circular coffee table with leather inset £10.00 -£20.00 75 A furniture throw 76 An Elsfal bicycle £20.00 - £30.00 77 A book case £10.00 - £15.00 78 A quantity of wire kitchen items £8.00 - £10.00 79 A cased Singer sewing machine £10.00 - £20.00 80 A shelf of new kitchen items including table lamp £10.00 - £20.00 81 A mixed lot of glassware including decanters, cranberry glass etc £10.00 - £20.00 2 shelves of cleaning and garden items £10.00 -82 £20.00 A shelf of cat ornaments and pictures £10.00 -83 £20.00 84 A shelf of cutlery £10.00 - £20.00 85 A shelf of miscellaneous including radio, lamps. kettle etc £10.00 - £20.00 86 £20.00 A new boxed foodsaver etc £20.00 - £30.00 87 88 A shelf of assorted china including coffee set, platter etc £10.00 - £20.00 A shelf of old tins £10.00 - £20.00 89 90 A glue gun, speed saw etc £10.00 - £20.00 91 A hat box and hats £10.00 - £20.00 92 A shelf of glass ware £10.00 - £20.00 93 A shelf of miscellaneous including cherubs £10.00 - £20.00 A shelf of pyrex £10.00 - £20.00 94 A shelf of boots and shoes £10.00 - £20.00 95 8 collectors plated depicting fish and 6 plates in 96 the shape of ducks £10.00 - £20.00 97 A shelf of glass ware, ornaments etc £10.00 -£20.00 3 large bags of costume jewellery £20.00 - £30.00 98 99 A shelf of miscellaneous including head phones, mini exercise etc £10.00 - £20.00 100 A speed saw, electric scraper etc £10.00 - £20.00 101 A vintage child's black board on stand and a vintage dolls cot £10.00 - £20.00
- £20.00 109 A planer and a saw £10.00 - £20.00 110 14 oriental style collector's plates £10.00 - £20.00 A quantity of train books £10.00 - £20.00 111 A shelf of old tins £10.00 - £20.00 112 113 A shelf of new plastic garden planters £10.00 -£20.00 114 A vintage Bush bakelite radio £10.00 - £20.00 115 A shelf of wooden items £10.00 - £20.00 116 A shelf of assorted tea ware £10.00 - £20.00 117 2 shelves of miscellaneous including storage jars £10.00 - £20.00 2 shelves of collector's plates £10.00 - £20.00 118 119 8 volumes of super cook £8.00 - £10.00 120 7 tankards £8.00 - £10.00 A shelf of cine cameras etc including Helina 121 £10.00 - £20.00 An old tool box, tools and old boot scraper £10.00 -122 A boxed Gnome square viewer £10.00 - £20.00 A shelf of metal ware £10.00 - £20.00 123 A shelf of blue and white table ware, some a/f 124 £10.00 - £20.00 A shelf of old tins £10.00 - £20.00 125 A Dribudd electric clothes drier £10.00 - £20.00 126 127 2 shelves of railway themed collector's plates £10.00 - £20.00 128 A shelf of glass ware £10.00 - £20.00 129 A cordless hammer drill and one other item £10.00 - £20.00 130 A rustic table and 4 stools £20.00 - £30.00 131 3 chandeliers and a ceiling light £20.00 - £30.00 132 A mixed lot of silver plate and a brass shelf £10.00 - £20.00 133 A mixed lot of coloured glass ware £10.00 - £20.00 134 A pair of 6 lamp ceiling lights with floral decoration £20.00 - £30.00 135 £10.00 - £20.00 136 shades £80.00 - £120.00 137 102 A shelf of assorted china including strawberry dish persons £30.00 - £40.00 £10.00 - £20.00 138 103 2 shelves of Christmas items £10.00 - £20.00 104 An Earlex spray station £15.00 - £20.00 139 £20.00 105 3 suitcases £10.00 - £20.00 A shelf of miscellaneous ornaments etc £10.00 -106 140 2 teasmade's £10.00 - £20.00 £20.00 141 A small table £10.00 - £20.00 107 A shelf of miscellaneous kitchen ware including 142 jelly moulds £10.00 - £20.00

108

A quantity of gardening magazines etc £10.00 -

2 Arthur Wood vases and an Arthur Wood jug A pair of wrough metal table lamps with glass A cased 60 piece Oneida canteen of cutlery for 8 An Arthur Wood Indian tree pattern jug and an Arthur Wood jardiniere £10.00 - £20.00 A shelf of railway books and magazines £10.00 -14 Piggin' figures including Hot Stuff, Supermum, Pickled and 2 frames £10.00 - £20.00 2

143	6 pieces of Arthur Woods Indian tree pattern pottery	178	7 pieces of Wood's Indian tree pattern pottery and one other jug £10.00 - £20.00
144	A vintage suitcase £10.00 - £15.00	179	Approximately 300 piece of ex dealer stock
145	10 framed and glazed fish prints £10.00 - £20.00		costume jewellery, all boxed, including opal and pearl, rings, bracelets, chains etc £125.00 -
146	A large quantity of books (complete contents of bookshelf) £20.00 - £30.00	400	£150.00
147	2 book cases £10.00 - £20.00	180	A mixed lot of glass including lamp shades £10.00 - £20.00
148	A modern standard lamp £10.00 - £20.00	181	A box of LP records £10.00 - £20.00
149	A framed and glazed signed Alphonso Mucha Le	182	An unusual desk globe £15.00 - £20.00
450	Jour print £10.00 - £20.00	183	3 Piggin' figures including limited edition - Wise
150	A cased Oneida 60 piece canteen of cutlery for 8 persons £30.00 - £40.00		Guys, Test Drive and Ice Christmas £10.00 - £20.00
151	A small pine book case £10.00 - £20.00	184	A mixed lot of china including blue and white
152	2 shelves of bus magazines £20.00 - £30.00	405	£10.00 - £20.00
153	A Weather Master wall barometer £10.00 - £20.00	185	2 ceiling lights £10.00 - £20.00
154	A framed and glazed religious text £8.00 - £10.00	186	A mixed lot of 35mm camera equipment including various lenses £10.00 - £20.00
155	A large bookcase £10.00 - £20.00	187	A Wood's flower basket and 2 posy vases £10.00 -
156	A print, a photograph and a hand painted engraving of Lincoln scenes £10.00 - £20.00		£20.00
157	A dining table and 4 chairs £20.00 - £30.00	188	2 brass plaques, 2 clock weights, 2 old tins and miscellaneous small items £10.00 - £20.00
158	A quantity of curtains and a box of net curtains	189	6 classic Marvel figurines, hand painted and with
	£10.00 - £20.00	100	magazines including Impossible Man, Winter
159	A vintage style radio £20.00 - £30.00		Soldier etc £10.00 - £20.00
160	A French pigeon lamp and one other oil lamp £10.00 - £20.00	190	A set of 3 hand painted graduated jugs £15.00 - £20.00
161	A French marble clock set £20.00 - £30.00	191	3 large bags of costume jewellery £20.00 - £30.00
162	A biscuit barrel, a jug, a dish and 3 plates £10.00 - £20.00	192	10 volumes of 'History of the Great War' £10.00 - £20.00
163	A boxed battery operated bartender £20.00 - £30.00	193	2 conch shell and a hand painted coconut shell £10.00 - £20.00
164	A writing slope and a mantel clock £20.00 - £30.00	194	A mixed lot of china including Lladro ducks,
165	A mixed lot of vintage toys £10.00 - £20.00		Limoges porcelain etc £10.00 - £20.00
166	A barometer £10.00 - £20.00	195	6 fans £10.00 - £20.00
167	An oriental style table lamp £10.00 - £20.00	196	5 Oriental plates £10.00 - £20.00
168	2 shipping prints £10.00 - £20.00	197	A pair of small glass vases £10.00 - £15.00
169	A large quantity of DVD's including railways £20.00 - £30.00	198	5 pieces of Wood's Indian tree pattern pottery £10.00 - £20.00
170	A mixed lot including cribbage boards, climax neckbands, Grimsby heraldic plaque, jewellery box and dressing table items £10.00 - £20.00	199	A box of stamps £10.00 - £20.00
		200	A quantity of bottles of alcohol including whisky £20.00 - £30.00
171	2 bags of costume jewellery £10.00 - £20.00	201	A bottle of 1957 Madiera £10.00 - £20.00
172	A boxed doll and 2 others £8.00 - £10.00	202	6 boxed Dutch collector's plated and a figure
173	2 large pottery 'ale' jugs £10.00 - £20.00		£10.00 - £20.00
174	3 shelves of CD's £20.00 - £30.00	203	A cased gamed compendium and a cased soapstone tea set £10.00 - £20.00
175	A Minolta camera, other camera's and accessories £20.00 - £30.00	204	A quantity of Dunhelm bed linen and a quantity of
176	A collection of tea cards, loose and in albums £10.00 - £20.00	205	coat hangers £10.00 - £20.00 An art pottery swaddling baby, signed £15.00 -
177	A Tom Tom sat nav in working order and a battery charger £15.00 - £20.00	206	£20.00 2 clocks £10.00 - £20.00

3

207	A Beswick art deco biscuit barrel £10.00 - £20.00	236	A quantity of Japanese dinnerware with floral
208	A quantity of Star Trek Deep Space Nine and Voyager DVD boxed sets, 2 shelves £20.00 - £30.00	007	pattern £10.00 - £20.00
		237	2 floral decorated wall lights £10.00 - £20.00
209	6 classic Marvel figurines, hand painted and with	238	2 Poole pottery dishes £20.00 - £30.00
	magazines including Sabre Tooth, Black Widow	239	A box of books £8.00 - £10.00
210	etc £10.00 - £20.00 An inlaid mantel clock £10.00 - £20.00	240	A large toolbox with contents, a cased set of sockets and a cased set of screwdrivers £10.00 - £20.00
211	A quantity of stamps. loose and in albums £10.00 -	241	3 briefcases including one with maps £10.00 -
	£20.00	241	£20.00
212	14 bottles of sparkling wine including champagne £20.00 - £30.00	242	A vintage suitcase and a set of 3 suitcases £10.00 - £20.00
213	Approximately 20 alcohol gift sets £20.00 - £30.00	243	Approximately 24 pieces of dinnerware £10.00 -
214	2 shelves of boxed collector's plates including R.A.F anniversary £10.00 - £20.00	244	£20.00 A vintage child's patty chair and a mid 20th
215	3 'cod' bottles £10.00 - £20.00	244	A vintage child's potty chair and a mid 20th century knitted golly toy £10.00 - £20.00
216	A Wood's silver shield teapot, biscuit barrel, jug and sugar bowl £10.00 - £20.00	245	A 19th century framed and glazed engraving entitled 'Ophelia' (Hamlet) £10.00 - £20.00
217	A mixed lot including inkwell etc £10.00 - £20.00	246	A Smith-Corona portable typewriter £10.00 - £20.00
218	A large green glass apple £10.00 - £20.00	247	A table lamp £10.00 - £20.00
219	A pair of oriental crackle glaze lidded jars on stands £15.00 - £20.00	248	A 3 piece porcelain and silver tea set £10.00 - £20.00
220	A collection of cased cutlery sets including carving, fish knives and forks etc £10.00 - £20.00	249	13 green leaf/cabbage plates and one other £20.00 - £30.00
221	A shelf of miscellaneous china £10.00 - £20.00	250	A pair of corinthian column table lamp bases
222	A collection of LP records including rock & pop, Bill Haley, Inkspots etc, approximately 60 £20.00 - £30.00		£80.00 - £120.00
		251	3 framed and glazed fashion prints £8.00 - £10.00
223	A shelf of Pendelfin including 3 houses £20.00 -	252	A Spode blue and white lidded jar £10.00 - £20.00
	£30.00	253	A quantity of silver plate including tea ware £10.00 - £20.00
224	A shelf of brass including candlesticks £10.00 - £20.00	254	An oak wall cabinet £20.00 - £30.00
225	A quantity of ex dealer stock costume jewellery	255	3 carnival glass bowls £10.00 - £20.00
223	including 192 chains, 27 size T rings, 30 oddments £125.00 - £150.00	256	An Indian tree pattern tea set and one other £10.00 - £20.00
226	An uplighter lamp shade £10.00 - £20.00	257	A box of stamps £10.00 - £20.00
227	A Royal Doulton Sarey Gamp character jug and 2 others £10.00 - £20.00	258	An excellent selection of film and theatre sound track LP records including rare themes, in excess
228	A very large box of world stamps £15.00 - £20.00	250	of 90 £20.00 - £30.00
229	3 cranberry glass bells and a ruby glass bell £15.00 - £20.00	259	Approximately 56 pieces of Royal Doulton Morning star pattern table ware £20.00 - £30.00
230	A silver topped pot, a sugar sifter and a ceramic	260	A pair of brass table lamp bases £80.00 - £120.00
231	clock £10.00 - £20.00 A shelf of Pendelfin £20.00 - £30.00	261	A replica coca-cola ice box and a Planters peanut sign £10.00 - £20.00
231	A collection of approximately 50 1980's Hasro WWF wrestlers, Hulk, Undertaker etc £30.00 -	262	A Swedish art vase, nude etched £10.00 - £15.00
		263	A model sailing ship £10.00 - £20.00
222	£40.00	264	A Goebel musician figure playing a trumped £10.00 - £20.00
233 234	A shelf of coloured glass £10.00 - £20.00	265	A silver lidded conserve pot and a green ribbed
234	A quantity of Hornby '0' gauge tinplate buildings and track £10.00 - £20.00		glass jar £15.00 - £20.00
235	A shelf of Pendelfin including house £20.00 - £30.00	266	An old babies rattle £10.00 - £20.00
		267	6 new and boxed wrist watches £10.00 - £20.00

4

268	A box of pens etc £10.00 - £20.00		£10.00 - £20.00
269	A pair of Wedgwood candlesticks £15.00 - £20.00	299	2 chrome and glass stands £10.00 - £20.00
270	A 19th century Robinson Cruseo spelter figure spill vase £10.00 - £20.00	300	A large quantity of boxed Lledo and other models £40.00 - £60.00
271	6 Royal Doulton character jugs £20.00 - £30.00	301	A box of LP records £10.00 - £20.00
272	A mixed lot including penny whistle, cork screw	302	A mini cycle exerciser £5.00 - £10.00
	etc £10.00 - £20.00	303	A box of files £5.00 - £10.00
273	A box of watches and jewellery £10.00 - £20.00	304	2 ornamental dolls prams £20.00 - £30.00
274	A mixed lot of silver 925 jewellery and costume jewellery £10.00 - £20.00	305	A quantity of clocks etc £10.00 - £20.00
275	An Edwardian sewing kit with silver thimble £10.00	306	A quantity of vases £10.00 - £20.00
	- £20.00	307	A quantity of Bohemian crystal glass decanters, glasses etc £20.00 - £30.00
276	4 WW2 medals, defence, war, 1939-45 star, France and German star £20.00 - £30.00	308	A modern glass topped coffee table £10.00 - £20.00
277	4 old corkscrews £10.00 - £20.00	309	A video camera ect £10.00 - £20.00
278	4 old wristwatches including Seiko automatic	310	A quantity of old books £10.00 - £20.00
070	£10.00 - £20.00	311	A nest of 2 tables £8.00 - £10.00
279	A quantity of costume jewellery, brooches, including silver cuff links £10.00 - £20.00	312	A quantity of Victorian china tea ware £10.00 -
280	A hip flask £10.00 - £20.00	012	£20.00
281	A quantity of wrist watches on an oriental plate	313	A jardiniere on stand £10.00 - £20.00
_0.	£10.00 - £20.00	314	A glass bowl, jug and cake stand £10.00 - £20.00
282	7 porcelain figures including match striker £10.00 -	315	2 cases of LP records £10.00 - £20.00
	£20.00 A mixed lot including silver cutlery, R.A.F marked cutlery, decanter labels and silver handled paper knife £10.00 - £20.00	316	A stainless steel candelabra £10.00 - £20.00
283		317	An oak occasional table £10.00 - £20.00
		318	A quantity of Avon bottles etc £10.00 - £20.00
284	A collection of coins including £5 commemoratives £10.00 - £20.00	319	Approximately 36 pieces of gold decorated table ware £30.00 - £40.00
285	A mixed lot including silver plate cutlery, old tins	320	An oval dining table and 6 chairs £20.00 - £30.00
	etc £10.00 - £20.00	321	A mahogany chair £8.00 - £10.00
286	3 fantasy figures £10.00 - £20.00	322	A mixed lot including paperweights, figure etc
287	A large dragon with figure £10.00 - £20.00	202	£10.00 - £20.00
288	A quantity of costume jewellery and watches £10.00 - £20.00	323	A watercolour of children fishing, 2 oils of mountain scenes and a tapestry £10.00 - £20.00
289	A quantity of UK and foreign coins and bank notes £10.00 - £20.00	324	A large 'Tomorrow's Treasures' doll £10.00 - £20.00
200		325	An oak mantel clock £10.00 - £20.00
290	A tin of mixed UK coins £10.00 - £20.00	326	A small book case £10.00 - £20.00
291	3 ladies watches including Sekonda, a Miles Suprex pedometer and a quantity of costume jewellery necklaces £10.00 - £20.00	327	An original vintage cased Singer sewing machine and an original Bernina record 530-2 case with keys £10.00 - £20.00
292	A collection of watches including vintage, one gold cased and one silver £10.00 - £20.00	328	A modern coffee table £10.00 - £20.00
293	A collection of watches including Sekonda	329	2 glass decanters £8.00 - £10.00
	(approximately 17) £20.00 - £30.00	330	An oak coffee table £10.00 - £20.00
294	7 wrist watches including Orlando, Nary etc £10.00 - £20.00	331	2 framed and glazed oval portrait prints £10.00 - £20.00
295	A quantity of vintage toys including die cast and Mickey Mouse viewer £10.00 - £20.00	332	A mixed lot of lighting including table lamps £10.00 - £20.00
296	A quantity of wrist watches £10.00 - £20.00	333	A bedroom chair £10.00 - £20.00
297	A mixed lot of stamps etc £10.00 - £20.00	334	A box of light fittings £10.00 - £20.00
298	A Tri-ang train set, die cast and accessories	335	A quantity of tennis rackets £10.00 - £20.00

336	A collection of LP and 12" records including 10cc, The Eagles, soul etc £10.00 - £20.00		Staffordshire tea cups with saucers, 3 items Wedgwood Jasper ware, trinket pots etc £10.00 - £20.00
337	3 bowler hats, vintage shoes, braces etc £20.00 - £30.00	368	A quantity of slide projectors £10.00 - £20.00
338	A Bush radio and an Elko radio £20.00 - £30.00	369	A shop display torso and a silk blouse £20.00 -
339	A set of snooker balls, set of pool balls, box of		£30.00
	chalk and scorer £20.00 - £30.00	370	A nest of 3 tables £10.00 - £20.00
340	A tripod wine table £10.00 - £20.00	371	A wooden cabinet, letter rack, book rack etc
341	A long case clock movement and dial £20.00 -	272	£10.00 - £20.00
342	£30.00 A quantity of bathroom scales £10.00 - £20.00	372	An oak framed and 2 1940's bevel edged mirrors £10.00 - £20.00
343	A collection of approximately 70 78rpm records including Sinatra, Eddie Fisher, HMV, Columbia	373	A box of door furniture £10.00 - £20.00
		374	A box of blue and white vases £10.00 - £20.00
0.4.4	etc £10.00 - £20.00	375	3 vintage projectors £10.00 - £20.00
344	A reel to reel tape recorder and tapes £10.00 - £20.00	376	A mixed lot of china, glass and wooden items £10.00 - £20.00
345	A modern coffee table £10.00 - £20.00	377	2 large brass trays/plaques £10.00 - £20.00
346	A mixed lot including jardiniere, cutlery. clock, trays etc £10.00 - £20.00	378	A quantity of sheet music £8.00 - £10.00
347	A vintage bagatelle board and balls £10.00 - £20.00	379	A writing box containing quills etc £10.00 - £20.00
348	A box of LP records £10.00 - £20.00	380	A framed and glazed religious text £10.00 - £20.00
349	A large box of linen etc £10.00 - £20.00	381	A pair of framed and glazed cricket themed
350	A quantity of Denby tea and dinner ware £10.00 -	000	calendar prints £20.00 - £30.00
000	£20.00	382	A draw leaf table and 6 chairs £30.00 - £40.00
351	A painted pot stand £10.00 - £20.00	383	2 boxes of assorted glass ware, ceramics etc £10.00 - £20.00
352	An animal skull and antlers £20.00 - £30.00	384	A pine dining table and 4 chairs £30.00 - £40.00
353	A Pro-action tent and accessories £10.00 - £20.00	385	A quantity of photographic enlargers etc £20.00 -
354	A teasmade and 2 cased cutlery sets £10.00 - £20.00	386	£30.00 A piano stool, shelf unit and foot stool £10.00 -
355	A pair of shabby chic painted bedside cabinets £20.00 - £30.00		£20.00
356	A Victorian oil lamp with blue glass chimney £25.00 - £35.00	387	Approximately 70 Marvel and DC comics including Wonder Woman, Fantastic Four, Avengers, Mini series etc £20.00 - £30.00
357	Approximately 80 Marvel and DC comics including	388	A Royal Crown Derby tea set £10.00 - £20.00
	Spiderman, Batman, Exiles, X Men etc £20.00 -	389	A quantity of curtains £10.00 - £20.00
250	£30.00	390	An oak hall table £15.00 - £20.00
358	A caravan porch awning a/f (been repaired, now ok) and rock steady caravan towing mirrors £20.00	391	A mixed lot of brass ware £10.00 - £20.00
	- £30.00	392	2 boxes of miscellaneous including clocks, figure etc £10.00 - £20.00
359	2 vases and a quantity of artificial flowers £10.00 - £20.00	393	A large ceramic fish £10.00 - £20.00
360	A teak effect wall unit £20.00 - £30.00	394	A modern wall mirror £10.00 - £20.00
361	A large collection of DVD's and blue rays including	395	A modern sideboard £20.00 - £30.00
	box sets £20.00 - £30.00	396	2 small signed cricket batch and a small heather
362	A mixed lot of figures including bisque £10.00 - £20.00		football £30.00 - £40.00
363	A golf bag and clubs £10.00 - £20.00	397 398	A wall clock £10.00 - £20.00 A Modern wall unit £20.00 - £30.00
364	A wall rack £10.00 - £20.00	399	A mixed lot of glass ware £10.00 - £20.00
365	A framed and glazed print £10.00 - £20.00	400	A fine quality framed, mounted and glazed print
366	A quantity of floral fabric £10.00 - £20.00	700	entitled 'The Calamity', image 14 x 19 cm £30.00 -
367	5 Noritake coffee cans with saucers, 2 Crown		£40.00

401	A modern rustic style dining table and 4	440	An oak Priory style dresser £30.00 - £40.00
402	upholstered dining chairs £40.00 - £60.00 A string puppet of a soldier £10.00 - £20.00	441	A framed portrait of King Edward VII, missing glass £10.00 - £20.00
403	A quantity of 45rpm and LP records and framed 45 with photograph of Cliff Richard £10.00 - £20.00	442	2 rope effect mirrors and a miniature picture easel print £10.00 - £20.00
404	2 bevel edged mirrors £10.00 - £20.00	443	A leather and fabric sofa and matching stool
405	A vintage picnic gramaphone £20.00 - £30.00		£20.00 - £30.00
406	a cased Encore acoustic guitar £15.00 - £20.00	444	2 oval mirrors and one other £10.00 - £20.00
407	A pair of teak bedsides £10.00 - £20.00	445	A framed and glazed picture of The Beatles £10.00 - £20.00
408	A cherub table lamp and a lamp base £10.00 - £20.00	446	2 framed and glazed sets of cigarette cards depicting fish £10.00 - £20.00
409	An oak dresser £30.00 - £40.00	117	, ,
410	A mixed lot of crested china £10.00 - £20.00	447	A framed and glazed set of Will's cigarette cards £10.00 - £20.00
411	A collection of pottery, china and silver plate including Goebel monks, Nursery ware, baby rattle etc £10.00 - £20.00	448	A framed and glazed print 'Tower Bridge, London,' by Lewis Todd, signed £10.00 - £20.00
412	A shop mannequin, a.f £10.00 - £20.00	449	An oil on canvas seascape initialled M N £10.00 - £20.00
413	A milometer £10.00 - £20.00	450	2 framed and glazed railway prints £20.00 - £30.00
414	A fur coat £10.00 - £20.00	451	2 framed and glazed religious texts £10.00 - £20.00
415	A fur coat £10.00 - £20.00	452	A framed and glazed Victorian print entitled 'The
416	A quantity of curtain ties £10.00 - £20.00		Inside of a Country ale house' £10.00 - £20.00
417	A cheval mirror £10.00 - £20.00	453	A pine bedside cabinet £10.00 - £20.00
418	A large pine framed mirror £10.00 - £20.00	454	A pair of mahogany chairs £10.00 - £20.00
419	A fur jacket £10.00 - £20.00	455	14 boxes of books £20.00 - £30.00
420	2 fur stoles £10.00 - £20.00	456	A pine 2 over 3 chest of drawers £20.00 - £30.00
421	A babies cot £10.00 - £20.00	457	A modern sideboard £20.00 - £30.00
422	A folding inlaid campaign chair £20.00 - £30.00	458	A quantity of cushions £8.00 - £10.00
423	A mahogany inlaid occasional table £20.00 -	459	A 2 over 3 chest of drawers £30.00 - £40.00
424	£30.00 A D shaped occasional table £10.00 - £20.00	460	A good quality 6ft teak bed with mattress £20.00 - £40.00
425	A modern book case £20.00 - £30.00	461	An arts and crafts book case £10.00 - £20.00
426	A mahogany framed chair £10.00 - £20.00	462	A marble topped wash stand £20.00 - £30.00
427	A large dining table £20.00 - £30.00	463	A 3 piece bergere suite £40.00 - £60.00
428	A decanter and glasses £10.00 - £20.00	464	2 single sided smart roll banners £10.00 - £20.00
429	2 boxes of miscellaneous including collector's plates £10.00 - £20.00	465	A painted treadle sewing machine base with pine table top £10.00 - £20.00
430	A brown leather sofa, chair and stool £20.00 - £30.00	466	3 dining chairs £10.00 - £20.00
431	A good quality office chair £20.00 - £30.00	467	2 fire surrounds £20.00 - £30.00
432	A 3 seat sofa, a 2 seat sofa and a chair £20.00 -	468	A mahogany drop leaf table £20.00 - £30.00
432	£30.00	469 470	A quantity of fishing rods etc £20.00 - £30.00 A clothes rail £10.00 - £20.00
433	A red leather sofa £20.00 - £30.00	471	A fur coat £10.00 - £20.00
434	A pair of good quality Chesterfield style sofa's from House of Frazer £40.00 - £60.00	771	7. Tal 60at 210.00 220.00
435	A modern cabinet £10.00 - £20.00		
436	A modern coffee table £10.00 - £20.00		
437	A 2 door cabinet £10.00 - £20.00		
438	A modern television cabinet £10.00 - £20.00		
439	A pair of pine side tables £20.00 - £30.00		